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1. The graphic solution is shown in Figure 1. We may push the indifference line and find out the
optimal solution (x1, x2) = (16, 0).

Figure 1: Graphical solution for Problem 1 Figure 2: Graphical solution for Problem 3

2. Let x1 and x2 be the numbers of tables and chairs produced, respectively. The problem can then
be formulated as

max 100x1 + 30x2

s.t. 2x1 + x2 ≤ 12
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xi ≥ 0 ∀i = 1, 2.

3. (a) Let x1 and x2 be the numbers of tables and chairs produced, respectively. The problem can
then be formulated as

max 120x1 + 80x2 − 30(3x1 + 2x2)

s.t. 3x1 + 2x2 ≤ 10
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xi ≥ 0 ∀i = 1, 2.

(b) The graphical solution is shown in Figure 2. Since the objective function is parallel with
the constraint 3x1 + 2x2 ≤ 10, there are multiple optimal solutions to the LP on the line
segment. Two optimal solutions, e.g., are (x1, x2) = {(0, 5), (2, 2)}. Therefore, we suggest
Tom to produce either 0 table and 5 chairs or 2 tables and 2 chairs per day.
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